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1. Using four approximating rectangles and left endpoints, the area under
the graph of f(z) = sin (g) from z = 0 to z = 27 is approximately equal
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12. A particle moves along a line so that its velocity at time
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14.  The volume of the solid obtained by rotating the region bounded by the

curves y = /z, y = v/2 — z, y = 0 about the line z = 4 is o4
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15.  The base of a solid is the region enclosed by the linesy = 3z, y = 3, z = 0.
If the cross-sections of the solid, perpendicular to the z-axis, are squares,
then the volume of the solid is 4

s

323%
%3)
: (’ 453
(a') 3 e =) (correct)
(b) 9 9 Cnoss Cedim
(c) 6 (%,3%) R
(d 12 oy 72 &
2 x
(e) a 'S‘l‘
3
5" = R=AX

Ax) = 91 > ("3‘331)1 =9 Agx+ax

\
VA
> \

) = ) dac
. L —wmepydx = 9 dg i

i

5 \
9 - (71—1;1‘%})]c

=9 . (1_”_%) = 9.

W—
fl
W



Math 102, 211, Major Exam 1 [Answer KEY |

MASTER | CODE(1 | CODE(02 | CODE03 | CODE04

Ol oo || onf x| e | —|O

|| | | | p| | | | | | | | |
| | o] 0] 3| | | 1| =) 2| | O] Q Qf
O| || = o] Q| | O 0| O to| =] | O]
W 0| ) | | | Q| O O] | O] = D] | O
W) | O| Q| 59| =] 3> = =) Q| O to| to| 3] =




Math 102, 211, Major Exam 1

Answer Counts

\'4
1
2
3
4

B | BO| Cof B

| | o co| o

RN O

e N e )

| = = | ]

| Answer Counts |




